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PART - A
GENERAL ENGLISH
(Marks : 25)

Identify the correct sentence,

(1) T am hearing some noise,
{2} 1 hearing sume noise.
(3) I here some noise.

{4} | hear some noise.

[ purchased a book. It costs rupees hundred.

Choose the sentence you get when you combine the two sentences,
(1} I purchased a book while it costs rupees hundred.

(2} 1 purchased a hook which costs rupees hundred.

44) 1 purchased a book when it costs rupees hundred.

(4) I purchased a book as it costs rupeess hundred,

Choose the correct sentepce from the following:

(1} Shiva will eaten the mango, (2) Shiva was eaten the mango.
(3} Shiva has eaten the mango, (4) Shiva is caten the mango,
This is useful form of activity.

Choose the appropriate word from the following:

(1) a (2) an (3} the (4) any~
Preparations are being made for her marriage by her parents.

Choose the correct active construction sentence.

(1) Her parents is making preparations for her marriage.

{2} Her parents make preparations for her nuTiAge.

(3) Her parents are making preparations for her marriage.”

(4) Her parents are being made preparations for her marriage,

The proposal was denounced by one and all. Give the antonym of the underlined word.
(I} announced {2} pronounced (3) appraised {-ﬁ commended
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We sat the tree (o rest. Choose the correct word to fill the blank,
(1) among {2) under
(371 below {4} up

He was profusely talented. Choose the correct meaning of the underlined word.
(1) abundantly.: [2) dearth
(3 limitation (4} enough

Read the following passage carefully and answer the questions.

Mahatma Gandhi believed that industrialisation was no answer to the problems that plague the mass
of India's poor and that villagers should be taught to be self-sufficient in food, weave their own cloth
from cotton and eschew the glitering prizes that the 20th century so emptingly offers. Such an wdyllic
and rural paradise did not appear to those who inberited the reins of political power.

Fill in the blanks choosing appropriale answers.

According to Gandhi, can be mmed into dyllic and rural paradise’.

1) village, (2) town (3) city {4) wrban area

Gandhi's views opposed industnalisation of village because

(11 1t would affect the culture of Indians,

(21 it would help the poor and not the rch.

(3} it would take away the skill of the villagers

4] it would undermine self sufficiency and destroy the beauty of life of the villager.

Gandhi's dream of an idyllic and rural paradise was not shared by ____
{1} those who believed that villages should be self-suflicient.

{2} those who called him the Father of the Nation.

{3} those who inherited political power after independence.”

(4} those who didn't believe in the industrialisation of the country.

The basis of an idyllic and rural paradise s
(1) rapid industrialisation of villages.

(2} self-sufficiency in food and clothes and simplicity of life style.
(3} bringing to the villagers the glittering prizes of 20th Century.

(43 supporting those holding powertul political positions.
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The meaning of 'the glittering prizes that the 20th Century so temptingly offers' is

(1) pursuit of a commercialised culure () absence of violence and corruption
(3) replacement of rural by urban interests (4) complete remaoval of poverty

Do you know how 1o write essay?
Choose the right word 1o fill the blank.
(1) a (2) an {3) the (4) one

We have arranged
Complete the sentence using appropriate part of the sentence given below:
(1) for someone to look after the dog nexi week.

(2) someone to look after the dog next week.

(3) te look afier the dog next week for someone,

(4) looking after the dog next week for someone.

Which of the following word is wrongly spelt,

(1) comprehensive (2} unwholesome
(3} rusticale (4) priscribe
Identify the pair of words that rhyme with each other.

(1) shine : line (2) glee: gay

(3) brecze: lie (4 vales : hills

He is poor. He is honest.

Which of the following is the right sentence when the above sentences are combined?
(1) He is poor not honest.

{2y He is honest bul not poor.

(3) Inspite of his poverty, he is honest.

i4) His honesty made him poor.

He said to the boy, "Are you coming?”

Which of the following is the right way of reporting the question?
{1} He told the boy were you coming.

(23 He asked the boy if he was coming.

(3) He asked the boy was he coming.

{4) He wld the boy if e was coming.
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They haven't gone to the temple.

Choose the comrect question fag to the sentence.

(1) Hasn't they? {2) Haven'tit?
(3} Are they? (41 Have they?

Fill in the blank with appropriate word from the following.
Auden's poetry is infused ____ humanistic feelings.

(1) on (2) with
{3) in i4) for

The teacher said to the boy, "Get out of the class®,

The above sentence can also he expressed as:

(1) The teacher said to the boy 10 go owt of the class.

(2) The teacher exclaimed that the boy should go out of the class.
(3) The teacher ordered the boy to get out of the class,

(4} The teacher requested the boy 1o get out of the class

Identify the grammatically correct sentence.
(1} He doesn't jump to hasty conclusions.
{2) Share the dinner among vou two.

(3} She has been written a book.

(4) Iam tired with writing 1o him,

The eyes are galled the windows o the soul.

[dentify the parts of speech of the underined words.

(1) Noun, Adjective (2) Verb, Adjective
(3) Verb. Noun (4) Adverb, Adjective

Very few cities in India are so big us Chennai.

The above sentence can also be expressed as:

(1) No other city in India is as big as Chennai.

(2) Chennai is bigger than most other cities in India,
(3) Chennai is biggest city in India.

{4} Chennai is not the biggest city in India.
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